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1. What does the dialogue tell us about Lily and Millie?
A. They still remain good friends.
B. They no longer get on with one another well.
C. Lily is said to have betrayed Millie.
2. Which of the following is true?
A. The man does not want to apologize to the woman for a told lie.
B. The man swears that he has not told the lie deliberately.
C. The man admits that he has told a lie to the woman.
3. What does the dialogue tell us?
A. The man never wants to take his wife’s advice.
B. The man’s mother is aged and feels rather lonely.
C. The man’s wife wants the man’s mother to live with them.
4. Who was not late for work?
A. The man was.
B. The woman was.
C. Neither of the speakers was.
5. What can we guess about the two speakers” son?
A. He does not work hard at his lessons.
B. He is particularly interested in English.
C. He has not realized the importance of study.
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6.

10.

W25 6B b KL, I 56 8/,
What example of the man and his daughter’s problems does the man
give?
A. His daughter often refuses to eat her dinner.
B. His daughter spends almost all of her time in her bedroom.

C. They always argue loudly when his daughter comes home.

. What does the man mean by describing his daughter as “stubborn”?

A. That she is very sad.
B. That she often doesn’t listen to what other people say and just does
her own things.

C. That she becomes angry very easily.

. What does the woman tell the man to do to resolve his problems with

his daughter?
A. Talk to his daughter as soon as possible.
B. Make his daughter stay in her room to punish her.
C. Wait for his daughter to talk to him first.
Wr 7B AR, MIASEOE 11/,

. What is the relationship between the man and the woman?

A. Brother and sister. B. Husband and wife. C. Friends.
What does the man make the woman promise to do?

A. Not to end their marriage after hearing what he has done.

B. Not to burn the dinner.

C. Not to tease him.
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11. What will the woman do next?
A. We cannot tell from the dialogue.
B. Divorce the man.
C. Cook the dinner herself.
W2 8B A L, M2 5E 12 = 14081,
12. Why is the woman upset with how her relationship with her boyfriend
is going?
A. Because she thinks that her boyfriend isn’t romantic enough.
B. Because she is always working and doesn’t have time to see her
boyfriend.
C. Because her boyfriend seems to care more about his job than he
cares about her.
13. What does the man on the radio have to say about the woman’s
problem?
A. That the woman is expecting too much from her boyfriend.
B. That he doesn’t know how to resolve it.
C. That the man should try to spend more time with her, no matter
how busy he is.
14. What can we tell from the woman’s final line?
A. That she doesn’t actually have a boyfriend.
B. That the woman’s boyfriend is actually the man on the radio.
C. That the woman’s boyfriend is with her when she is on the phone.
WrEROBLATRE, M 15 E 17/,
15. Why does the man want to do something special for his wife on their
anniversary?
A. Because she always takes him out on other special occasions.
B. Because he has been busy recently and not been able to spend

much time with her.
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C. Because he wants to thank her for living with him without complaint
for 25 years.
16. Why would the woman consider going to a restaurant exciting?
A. Because she is very interested in world-food and other cultures.
B. Because it would give her a break from making dinner.
C. Because she is a very boring person.
17. How will the man manage to give his wife a break from cooking?
A. By cooking himself.
B. By taking her to a restaurant.
C. By taking her to a circus.
W25 108 A4}, 10 2 55 18 220/ ,
18. What phenomenon is being experienced in the West?
A. An increase in the number of marriages failing.
B. An increase in the number of marriages.
C. A lowering of the average age of marriage.
19. Which of the following is mentioned as a reason couples may get
divorced?
A. Financial issues.
B. Too many arguments caused by loss of freedom.
C. Becoming hard to ignore each other’s faults.
20. Because of what may many parents hesitate before choosing to end up
their marriage?
A. Their properties. B. Their children. C. Their parents.

f
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1. What can we guess about the woman’s work?
A. It is not going on smoothly at present.
B. It has always shown consistency.
C. It has come to a stop.
2. What can we learn about the new boss from the dialogue?
A. He sometimes hesitates about doing things.
B. He is a quick decision maker.
C. He is not easy-going.
3. What does the woman advise the man to do?
A. Try to pull out the bad teeth all by himself.
B. Go to a dentist for a treatment.
C. Brush his teeth twice a day.
4. Why does the man say the woman is a gifted writer?
A. Because her novel has been a best seller.
B. Because her published articles are already well-known worldwide.
C. Because each month witnesses a new book written by her.
5. Who might go to the speech to be given this evening?
A. The man. B. The woman. C. Both of them.
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6. For which subject is the girl writing her essay?
A. English. B. Maths. C. Chinese.
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11.

12.

. Which of the following punishments did Lily not receive from the

teacher?

A. She had to stay behind after school and help the teacher do small
jobs.

B. She had her computer taken away from her.

C. She was given more homework than the other students.

. Why does the boy not feel sorry for the girl?

A. Because he has never liked her.
B. Because he doesn’t think it right to watch a DVD in class.
C. Because he thinks that she should have been clever enough not to
be caught by the teacher.
Wy S5 7TBOR RL, A9 1 1,

. Why hadn’t the girl called her brother in a while?

A. Because they had a big argument.

B. Because she’d been quite sad recently.

C. Because he had been hard to reach.

Which of the following words best describe the girl’s problem?

A. Financial. B. Educational. C. Social.

Why is the boy not surprised to learn about his sister’s problems?

A. Because he knows that his sister doesn’t make friends easily due to
her attitude.

B. Because he knows how shy his sister is.

C. Because he has heard stories about many people at university being
hard to get along with.

Wr S5 8 BLAL KL, M S 12 1448,

Why is the woman sad?

A. Because she couldn’t buy the apartment that she wanted.

B. Because she had an argument with her friend.

C. Because she had an argument with the man.
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14.

16.

17.

18.

19.
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Why did the woman want to discourage her friend from buying the
apartment?

A. Because her friend is unemployed.

B. Because the woman wanted it herself.

C. Because the man wanted it.

What does the man recommend the woman to do?

A. Let her friend do what she wants to.

B. Buy the apartment herself so that her friend can’t have it.

C. Try to discourage her some more.

WrsB OB AT KL, B 55 152 17481,

- What is the relationship between the boy and girl?

A. Friends. B. Brother and sister. C. Classmates.
When does the girl say that she will stop using the phone?
A. When she has finished.
B. Whenever the boy asks her to.
C. When she has something better to do.
According to the boy, why won’t the girl let him use the phone?
A. Because she enjoys seeing him unhappy.
B. Because she needs to talk to her boyfriend.
C. The dialogue does not tell us.
W35 10844 4} 112545 18 25 2045
Why did Anna read the horoscope?
A. Because she always pays attention to things like that.
B. Because someone else told her to. '
C. Just for a little fun.
What did the horoscope predict would happen to Anna?
A. That she would betray someone else.
B. That she would buy a new puppy and it would pee (/M) on her bed.
C. That someone she trusted would do something bad to her.
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20. What happened to the horoscope which came in the mail?
A. Anna threw it away.
B. Anna kept it for future use.
C. Anna’s new puppy peed on it.

Exercise 3

E—1
W T T S B0 i, B B R A — AN /NS B TR YA B .C =4
PRI 3 H Fe A BRI, I AR 7 1A AR LA W 58 B BOVHE JE AR AR
TOFD 4 fy Bsf [1) Sk [0 225 A 5 /N A ) 138 T — /N, g B X T AN 33— 3l
1. What does the woman mean?
A. She never has any disagreements with Monica.
B. She doesn’t think Monica is her good friend.
C. It is impossible for her and Monica to always agree with each other.
2. What do we learn about Mike?
A. He got hurt in the tower climbing.
B. He has stayed in the hospital for three months.
C. He has never done anything dangerous.
3. What can be learnt about the woman’s illness?
A. It is not serious at all.
B. The cause has not been found.
C. It is getting worse and worse.
4. Who thinks the agreement is absurd?
A. The man. B. The woman. C. Both of them.
5. Why can’t Sarah stand Annie?
A. Because of Annie’s way of talking.
B. Because of Annie’s attitude to others.

C. Because of Annie’s betrayal of her.
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6. Why does the man think that the children will respond to him well?
A. Because he is outgoing.
B. Because he is so good at badminton.
C. Because he knows how to play many fun games with them.
7. Which specific part of the man’s private life does he think would help
him to be a teacher?
A. The fact that he is very good at badminton.
B. The fact that he has read many books about teaching techniques.
C. The fact that he has a child himself.
8. What did the man’s child do to embarrass him yesterday?
A. She went to a crazy party.
B. She shouted at him in front of many people.
C. She was arrested by the police.
Wr B 7BOATRE, RIS 55921148
9. Why is the boy’s mother especially angry that he won’t go to the
dentist’s?
A. Because his teeth are so bad.
B. Because the dentist is very busy and appointments are hard to book.
C. Because he promised to her that he would go.
10. What does the boy find particularly frightening about dentists?
A. He doesn’t like other people putting their hands in his mouth.
B. He doesn’t even know exactly himself.
C. He doesn't like the tools that they use.
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11.

13:

14.

15.

16.
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What does the woman decide to do about her son in the end?
A. She decides to let him wait.
B. She decides to make him go after all.

C. She decides to buy him something special as a reward.

T EE R EL M KL, IS 12 F 1448,

. What does the woman mention as being a highlight of the amusement

park?
A. The fun things to do.
B. The beautiful scenery.
C. The delicious food available.
Which of the following will replace the amusement park when it is
removed?
A. Roads.
B. Spaces for people to live.
C. A new amusement park.
What is the main reason that the man and woman object to the
amusement park being removed?
A. They think that it has the power to bring different people together.
B. They think that it looks really beautiful.
C. They think that it’s really fun.
WrSE9BAF L, A 15217/,
Why is the man shocked to discover his daughter doing arithmetic
homework at home?
A. Because she usually hates doing arithmetic homework.
B. Because she doesn’t even take that subject.
C. Because she usually does all her homework at school.
What did the boy threaten to do to the girl if she refused to give him
all her Easter eggs?
A. Physically hurt her.
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18.

19.

20.
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B. Tell all their classmates bad things about her.
C. Make her do more homework for him.
What does the girl’s father decide to do about the situation?
A. Contact the girl’s school about the problem.
B. Talk to the boy directly.
C. Nothing at all.
Wr 35 108 R, [0 2555 18 2018,
Which of the following is mentioned as a possible outcome of a
student’s bad behaviour?
A. Other students may follow the student and act naughtily too.
B. The teacher may be discouraged from teaching.
C. The teacher may become too angry to teach any more.
How do teachers feel when they punish their students?
A. They feel bad for having to punish the students.
B. They feel happy to show the students who is in charge.
C. They don’t have any particular feelings either way.
According to the speaker, which fact would make students’ lives better?
A. That teachers are always right.
B. That teachers only want what is best for them.

C. That teachers are students’ friends.

11
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1. What is the woman’s father?
A. He is an environmentalist.
B. He is an economist.
C. He is an ecologist.
2. Which opinion is shared by both speakers?
A. Environmental protection is not as important as economic
development.
B. The industry is not growing fast enough.
C. The industry is growing at the expense of the environment.
3. What do the two speakers say about the house near the river?
A. Tt looks fine but it is too expensive.
B. It seems alright but the nearby river is seriously polluted.
C. It is very satisfactory but it is too far away.
4. When was the factory built?
A. Six months ago. B. One year ago. C. Two years ago.
5. What are the two speakers talking about?
A. War. B. Responsibilities. C. Wildlife.
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